
DK-01 
Drop Kit for Deere and Kinze 

Martin Planter Attachments 

Martin Industries LLC 

206 Elk Fork Road 

Elkton, KY 42220 

Telephone: 270-265-5817 

E-Mail: martin@martintill.com 

www.martintill.com 

Installation Instructions 

VERSION 08012014 



Hardware Required Per Wheel 

Installation Instructions for 

DK-01 

STEPS 

1) Attach drop bracket to tail wheel using the 5/8” X 1 3/4”  bolt and nut. 

2) Thread the  3/8” X 1/2” bolt in to one of the threaded holes in the drop bracket. These 2 threaded holes 
are for angle adjustment of the closing wheels. 

5/8” X 1 3/4” Bolt  

(B5M58NC134) 

& 

5/8” Nut 

(N58CNL) 

The head of 3/8” X 1/2” bolt 

(B5M38NC12) fits in the hole of 

the tail wheel housing. 

1) Drop Bracket                        QTY 1 

2) 5/8” X 1 3/4” Bolt               QTY1 

3) 5/8” Nut                               QTY 1 

4) 3/8” X 1/2” Bolt                  QTY 1 

3/8” X 1/2” 
Bolt    

(B5M3812)                

5/8” Nut    

(N58CNL)                            
5/8” X 1 3/4” Bolt          

(B5M58134)       

Drop Bracket                      

Two threaded holes are provided so that the 
amount of tail wheel lift can be varied to in-
crease or decrease the aggressiveness of the 
spading closing wheels.  

More tail wheel lift equals more aggressive 
closing. 


